m(€2€3) (GeV) <4 >4

Asp (cm) <0.5 0.5-1.5 1.5-4 >4 <0.5 >0.5

U 0.081+£0.008 1.40+0.09 65+04 73+7 0 0
HNL2 p*pFe® 0.024+0.003 073+0.05 25+02 54+0.5 0 0.000 = 0.004

prpeT  0.024+£0.003 0.78+0.05 24+02 52+0.5 0 0

Ty 0.04440.004 0.27+0.02 0874005 444+05  0.037+£0.003 22402

HNL6 wu*uTe® 0.027+£0.002 0154001 033+£0.02 0.5840.05 0.024+0.002 0.5140.03
pruteT 0.03+£0.00 016+0.01 035+£0.02 0.58£0.04 0.02£0.00 0.50£0.03
UUU 0.15+£0.02 033+£0.02 0.08+0.01 0 23+02 25+0.1

HNL12 ptuFet 013+0.01 0.18%0.02 0.037 £ 0.005 0 1.30 £0.08 1.10 £0.07
urutet 011+£0.01 018+£0.02 0.04+0.01 0 1.30 £0.08 1.20 £0.08



